ITEM aTy PART NUMBER DESCRIPTION COLOR

1 5 DIN 6916 - 17 Washer Cyan

2 1 DIN 985 - M16 Hex Nut Brown

3 28 DIN 7991 - M16x30 Counfersunk head cap screws |Red

[ 5 DIN 7349 -1% Washer 6 mm Brown |

5 L0 |DIN 6916 - 28 Washer Red JAKE ; ;
6 9 |DIN 7991 - M16x40 Countersunk head cap screws |Violet www jake.fi
7 2 DIN 125 - A 8,4 Washer Magenta — 262;1’; Kimm’:”c:rval

8 2 DIN 7991 - M16x70 Counfersunk head cap screws |Blue thecked Forest tank

9 1 DIN 7991 - M16x60 Counfersunk head cap screws |Yellow Stenderd

10 10 |DIN 6923 - M16 Hex Nut Red

11 2 |DIN 933 - M8 x 30 Hex-Head Bolt Magenta Valtra Direst/Versu 1 {32
12 5 DIN 7991 - M10x20 Countersunk head cap screws |Cyan Srare Cranges oare | Neme |

6

I I A % 3 I 2 I 1




ITEM aTY PART NUMBER DESCRIPTION COLOR JAKE . .
1 ? DIN 6916 - 13 Washer Green www.jake.fi
2 7 DIN 931 - M12 x 100 Hex-Head Bolt Green — 262;1’; Kimm’f"::w
3 10 DIN 933 - M8 x 16 Hex-Head Bolt Yellow reckes Forest tank
L 2 Linch Pin Blue Stenderd
5 1 DIN 933 - M12 x 50 Hex-Head Bolt Black
6 2 DIN 985 - M8 Hex Nut Magenta Valtra Direst/Versu 2 A/32
i 8 DIN 7349 - 25 Washer 10 mm Orange Shor Cran oot |

5

[A




